Flux

174804.8-244-PCA-8109-MJD55499.40890_Ic.txt / MJID 55499.408867 / burstid=8109

. Grey line: exponential fit Peak flux: 0.212+/- 0.018 c/s/cm?
[ ﬁﬂmﬁ“ Black line: power law + gauss fit Fluence @ 6.15+/- 0.43 c/cm? n
E t |T\M Dashed line: power law o ' )
0.100 — L. N Duration : 113.80+/- 14.28 s —
- { | M w { ‘ & Best fit model: 2. J
- HH | “ “ HPH ‘ H ‘ ‘ 5 ‘f u%nce odel: 2. =
B ‘ ‘ “ H HH : M | ‘ L H ‘ ‘ stduration|model: 2. i
il L] [l
0.010 — “ ‘H‘ | i H\ | ‘ ‘ I ‘H‘ | ‘ I | | —
= [ [ E
0.001}— —
20 ; Exponential fit é
= Expon.time: 12.88+/- 1.24 s (chi*red= 1.35) =
10/ =
= = =
£ = =
g - boabl abbad b b E
= 4F | LTI AR f | 3
§ 0 ; Xﬁﬁ ﬁwﬁﬁﬂ w Hﬁﬂﬁwﬁwﬂ%ﬁ#ﬂi Hﬁﬂﬂﬂﬁﬂ ﬂ{# HHﬂmﬁﬁwﬂwﬁ f ﬂ%ﬂﬁ Hﬁi Hﬁﬁwﬁ #ﬁwﬂﬂﬁﬂﬁmﬁf E
.g - } -
[a] — -
10 E
2 -
20 ; Power law fit é
E Power law index: -2.340+/- 0.181 (chi*red= 1.33) =
_ 10E =
3 = 3
= = 3
G | o bt f g -
= ob tulid T T L R AR T =
% 0F Ww m i *WHMWHHHWM i WWMMW 4 HM i i Hﬂwﬁﬂw -
3 E
[a)] C 3
0 E
2 E
i I T T T T T T T T T I T T T T T T T T T I i
20— Power law fit plus Gaussian (st.dev.= 0.00+/- 0.13 s, fracgs= 0.00+/- 0.00) =
= Power law index: -?.655+/- 0.323 (chi*red= -1.00) 3
= iy 3
- i E
7 1o§ wﬁwﬂﬂwﬁﬂ TR i =
K= H HMHH WH#WHM LU A =
B, = il A b b =
= of il A UL Ll =
= - H* H* f =
gk E
3 = =
[a] — -
0 E
2 -
E | I I I I I I I I I | I I I I I I I I I | I =
0 100 200 300

Time [s]



